KRBT E RE B G J AR B &ET R

HRGGETEH ¢ 10354H

#h 75 A EE (ATBEREARE ) H

>
\;:[
Y

HAth &R A =1
AIfE 0 0
iz 0 0
BE 0 0
] 2 2
THUH 0 0
=i 2 2

s 0.00% 0.00%

S 8 T e e Z AT BGERA = BT A T B AE B -
ESTBUERE AR

HCAth SR AR f=i]
HOfiE 0 0
iz 0 0
BE 0 0
B[] 3 3
JBEFEHIA 0 0
i (DI A 3612 0 0
4 QAL R EEAE 0 0
et 42 0 0
=¥ 3 3

S 0.00% 0.00%

BER GOERETEE) 0.00% 0.00%




BEMEARBHIR

i HF e &t
e 0 0 0 0
f31le] 0 0 0 0
o] 13 3 1 17
gy | 0 ] 0 1
o | QUES HHCRE 4 3 2 9
/Nt (142) 4 4 2 10
=¥ 17 7 3 27
HER 23.53% 57.14% 66.67% 37.04%
BasE (HERHSE) 23.53% 42.86% 66.67% 33.33%

* TIRHIETESTE | FEIRE T A R EUA S 330 LR E N AP B R g i &

R ETBUEBE AR
P B AT A &t

Az 0 0 0 0
A 1 o) 0 3
f18 0 1 0 1
BRI 0 0 0 )
=t 1 3 0 A

A 0.00% 33.33% 0.00% 25.00%




KB ERZ BGSGEGHAR BTG R
HRGEHEH 1 1034F1 HE4A

#h 5 EbE (TBETERAE ) #

Pras

H 8 R ZE =t

Ffig 0 0

Al 0 0

BE 0 0

B[] 2 2

HEs 0 0

=1t 2 2

B2 0.00% 0.00%

SRS S e AME T Z AT BERAR A T AR T BER A B EE -
ST BUEABT AR

H A &8 AR ZE =til

Ffig 0 0

o] 0 0

BeE 0 0

A 14 14

BRI AR 0 0

9 (DFAE R 0 0
4 k% REER[E 2 2
AED) 2 2

=1 16 16

B 12.50% 12.50%
BEER (HIRRHEE) 12.50% 12.50%




BEMEARB AR

P £l =R =t
Fl1fi# 0 0 0 0
e 1 2 0 3
v 35 26 ] 62
. (D FEEE 3 5 0 8
4 QES REEARE 10 5 2 17
/NEF(142) 13 10 2 25
(=t 49 38 3 90
HEER 26.53% 26.32% 66.67% 27.78%
BasE (HERHSE) 20.41% 13.16% 66.67% 18.89%

¢ THEHUTESE | fRIRE R E A B3R B 1 HRUE N TTARS B G e iras s

K OTHEE ) R RE) %xlEIﬂB THRUH < ZE

BT BUABTHIE
Fiﬁfff%j% £yl H A& AR =t11
Az 0 0 0 0
vl 13 7 6 31
A 0 | 0 1
BEFE R HA | 0 0 1
=t 19 8 6 33
HER 0.00% 12.50% 0.00% 3.03%




HeRGEt A 1031 HE3H

T 7EEE (ATEETEARE ) HIIR

HA AR ZEA =v:1

Ffi 0 0

/] 0 0

JEA= 0 0

| 0 0

S 0 0

=¥ 0 0

AR 0.00% 0.00%

A B ST R Fr 2T BERA R E I T A TG A RE S HE -
ST BUABE IR

HAE R AR EA =t

FlIf# 0 0

Al 0 0

BE 0 0

| 1] 11

BEEE R FIR 0 0

i (D& 0 0
o QES AEAE 2 2
Nat(1+2) 2 2

=t 13 13

AR 15.38% 15.38%
B (URFEE) 15.38% 15.38%




BEMEARBHIR

TR

] E(ERE =5
Fl1fi# 0 0 0 0
e 1 2 0 3
v 22 23 0 45
5 (DIeiHEsE 3 4 0 7
4 QES REEARE 6 2 0 8
/NatT(142) 9 6 0 15
(=t 32 31 0 63
By= 28.13% 19.35% 0.00% 23.81%
BasE (HERHSE) 18.75% 6.45% 0.00% 12.70%

T IRHIETESTE | FE IR TN A R R EUA S 330 A RUE N AR B R s i &

X OTHEE ) RO e BBl o BB A 2 ZE

w1 BUABEEIE
P £l H A& AR =t11
Az 0 0 0 0
vl 17 5 6 28
A 0 0 0 0
BEE R HA | 0 0 1
=t 18 5 6 29
HER 0.00% 0.00% 0.00% 0.00%




